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INITF(f[1..n]):
forie—1ton ‘
Fli,i—1]«0 DJ %]
fork<—iton h
F[i,k] = F[i,k—1]+f[k] | |

0 ifi >k
OptCost(i, k) = {OptCost(i, r—1)
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F[i,k]+ min
+ OptCost(r + 1, k)

i<r<k

} otherwise



CompuTEOPTCOST(i, k):
OptCost[i, k] « oo
forr—itok

if OptCost[i, k] > tmp
OptCost[i, k] « tmp

O (N time

/7 tmp « OptCost[i,r — 1]+ OptCost[r + 1, k]

OptCost[i, k] « OptCost[i, k] + F[i, k]

isthe - -
ikt
| \ﬁ/f/ﬁ;w? oA 77

SRR

OpTIMALBST(f[1..n]):
INITF(f[1.. n])é—/

forie—1ton+1 010(’\3

OptCost[i,i — 1] «
ford 0ton—1

fori —~1ton—d (... or whatever))
CompUTEOPTCOST(i,1 +d)

return OptCost[1,n]
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OpTIMALBST(f[1..n]): OpTIMALBST2(f[1..n]): OpTIMALBST3(f[1..n]):
INITF(f[1..n]) INITE(f[1..n]) INITF(f[1..n])
forl«o—lcton.+‘1 for i < n+1 downto 1 forje—Oton+1
e ost{i,i—1] 0 OptCost[i,i—1] « 0 OptCost{j+1,j] <0
ord —0ton—1 : : for i d
fori —1ton—d (... or whatever)) forje—iton 5 2 QEEeCownmo 2 5 %
CompUTEOPTCOST(i,1 +d) CompuTEOPTCOST(, /) CompuTEOPTCOST(1, /)
return OptCost[1,n] return OptCost[1, n] return OptCost[1,n]
0 ifi >k
OptCost(i, k) = OptCost(i,r —1)

F[i,k]+ min otherwise

i<sr<k |+ OptCost(r + 1,k)
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